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UDP: 

segment 

header

source port # dest port #

32 bits

application
data 
(payload)

UDP segment format

length checksum
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Internet checksum: example

example: add two 16-bit integers

1 1  1  1  0  0  1  1  0  0  1  1  0  0  1  1  0
1 1  1  0  1  0  1  0  1  0  1  0  1  0  1  0  1

1  1  0  1  1  1  0  1  1  1  0  1  1  1  0  1  1

1 1  0  1  1  1  0  1  1  1  0  1  1  1  1  0  0
1 0  1  0  0  0  1  0  0  0  1  0  0  0  0  1  1

wraparound

sum

checksum

Note: when adding numbers, a carryout from the most 
significant bit needs to be added to the result
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TCP segment structure (TCP Header)

source port # dest port #

32 bits

application

data 

(variable length)

sequence number

acknowledgement number

receive window

Urg data pointerchecksum

FSRPAU
head

len

not

used

options (variable length)


